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From the author

Many foreigners who wish to learn Russian encounter the problem of searching a good
textbook. To my mind, the textbooks that I had during my college years were very complicated and
confusing to study Russian. Using them to learn Russian could be compared to my learning English
at school for 6 years and at college for 2 years — I spent 8 years studying English, but I can say
only a couple phrases for sure and one of them is “My name is Tatyana”. That’s pretty much all my
knowledge of English. However, I have grade “A” in English in my college certificate. Possibly there
are good textbooks to learn Russian but I haven’t met them yet.

What are the major differences characterizing my textbook? First, there is nothing more than
necessary material, for example, phonetic exercises are excluded. Nowadays there are numerous
websites that will teach you to read in Russian and help you with pronunciation.

Unlikely you will get rid of accent so don’t put too much effort in it. While speaking Russian
with native speakers you will catch up in correct pronunciation. Second, you are going to study
Russian grammar from the very first lesson even before you start speaking Russian. While studying
this textbook you will learn the way of using tenses in Russian, correlation between verbal aspect and
tense and understanding the cases of nouns or pronouns in relation to the verb.

There is a lot of tables in the textbook which will help you in studying language.

One more moment to which I'd like to pay your attention. There are phenomena in each
language which are very difficult to explain. Sometimes native speakers don’t know why they speak
so, instead of differently. Therefore the certain words and expressions are easier to learn and not
to puzzle your brains why they are used so.

Why does the textbook have such strange title? The matter is that the people, wishing to learn
Russian, seem a little bit crazy. Now when Russia is under the sanctions, when economy is in crisis, the
idea of studying Russian is not the best somehow. But I am precisely assured that to speak Russian (as
well as any other language however) is fine! And if you arrive to Russia sometime, find friends here

(the Russian friend — that’s cool!) and speak Russian with them by means of my textbook I shall
be very glad.

Certainly, it would be quite good if someone helped you to study language, but nobody
cancelled motivation-power. There would be a desire as Russians like to say.
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AudpaBut

A@B®BM™T (2 (@) E (o) E (jo) K () 3 (z) U (i) U (j) K (k) JT (1) M (m) H (n) O (0)
HEP@HCETOY @) X (h) L (c) 9 (ch) OI (sh) LT (sheh) B w1 (y) 3 (e) 1O (ju) 4 (ja)

Learning to read in Russian is not very difficult. We can say — it’s the easiest thing in Russian.
Just put the sounds one by one. For example, mama (mama), uaru (idti), 3Haio (znaju), Kynuts (Kupit’).
Note the letter b, which softens the preceding consonant, but does not make sound itself. Therefore,
at the end of the word “kynuTts” it should be pronounced soft sound (T”). In the Internet (or in the
You Tube) you can find a program and video that will teach you to read in Russian.
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The Terms

To learn foreign language, it is necessary to know the basic terms. Without them training is
impossible. (Certainly, if you live in the Russian-speaking environment, communicate in Russian
every day, it will not be a controlling factor). For those who has no such conditions, without terms
it is impossible in any way.

The Gender (masculine, feminine, neuter)

The Stem

The Number (singular, plural)

The Ending

The Tense (the Past, the Present, the Future)

The Verbal aspect (imperfective, perfective)

The Infinitive

The Imperative mood (imperative)

The Case

The Subject

The Predicate

The Comparative degree

The Part of speech (a noun, an adjective, a verb, a pronoun, an adverb, the numeral, a participle,
a preposition, a conjunction)

The Synonym

The Antonym

The Sound (soft, hard, unvoiced, voiced)

The Letter (vowel, consonant)

The Sentence

The Accent

The Conjugation



T. Y. Tumali. «Russian language for crazy. Tutorial»

The Greeting and Farewell in Russian

The basic greetings in Russian:

3apascTByiiTe! (=zdrastvuyte) /lo cBuganus! (= do svidaniya) are used are used when
addressed to strangers.

Ipuset! (=privet) [loka! (= poka) [lo 3aBTpa! (=do savtra)

o Berpeun! (=do fstrechi) — is used when addressed to friends.
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— Kak... 30ByT? (What is....name?) — Mens 30Byt Tarbana. (My name is Tatyana) — Ouenb
npustHo. (Nice to meet you). — MeHs 30ByT ... (My name is

When this question is addressed to you, it contains the pronoun BAC, in a reply BAC is replaced
by the pronoun MEH$1. When you want to know the name of another person, you should ask: — Kak
EI'O (EE, MX) 30Byr? In a reply the pronoun doesn’t change:

The Introducing

Kak ero 3oBy1? (What is his name?) — E['O 30ByT WBan. (HIS name is Ivan).

Kak e€ 3oByt? (What is her name?) — EE 30ByT Ons. (HER name is Olya).
Kaxk ux 30ByT? (What are their names?) — X 30ByTt Oser u Harama. (THEIR names are Oleg

and Natasha).

KAK

A - MEHH (I - ME)
MBI — HacC (we — us)

Tol — Teba (you — you)
BbI - BAC (YOU - YOU)
oH — ero (he — him)
oHa — eé (she — her)

oHH — MX (they — them)

Answer the question:

Kak Bac 30ByT? MeHs 30ByT. ..

Remember, that use of pronouns Tsl or Bbl depend on whom you address to.

30BYT?

“Kak Bac 30ByT?” You ask when referring to a stranger or to an adult. “Kak te6s1 30ByT?” one
might ask a child only. For example, it would be indecent to ask an unknown girl: “Kak te6s 30ByT?”.

Girls do not beat you, of course, for such question -), but it is better not to ask so.

10
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The Gender of Nouns

There are 3 genders of nouns in Russian. First they are should be learnt. The gender of a noun
is determined very simply. When a noun ends in -A or -4, then it is feminine. When a noun ends in -
O or -E, then it is neuter. All other nouns are masculine (except of mama, neaymka, asas). Why
do we need to know the gender of this or that noun? Noun’s ending varies in six cases in Russian —
((. And it doesn’t just vary, but varies in relation to the gender. Therefore, it is important to know the
gender of a noun. It determines the choice of endings. When you just nominate an object or a person
it is case 1 (nominative). In case 1 (nominative) the noun’s ending doesn’t change. For example, you
say: 910 Teseon. Or you can ask: 910 npuHTEp? ITO LBETOK ?

When you want to know how an object is called in Russian, the correct question is: “Kak 310
HasbiBaeTcsl no-pyccku?” In reply you will hear, for example: “Oto cobaka”.

Masculine gender — Feminine gender —A, -5 — Neuter gender — O, -E

OH — OHa — OHO

KOMITBIOTEP — JIEBYIIIKA — OKHO

Exercise 1.

(The correct answers (Keys) can be found at the end of the textbook.)

Find the meanings of the words in the dictionary. Define the gender of nouns on the sample.

Sample: Mammna — ona (she), feminine gender. Tenepon — he (oH), masculine gender.
Mornoko — it (oHO), neuter gender.

Cecrpa, Opar, MallIMHa, CKalIl, THTEPHET, KOMITBIOTEP, TEJIEBU30p, cO0aKa, OKHO, MOJIOKO, TTac-
MIOPT, BU3a, KOIIKA, PyyKa, TyaJleT, nuBo, Anonus, Kuraii, Poccus, ynusepcurer.

The gender of a noun determines the choice of a pronoun which it refers to, such as mon
(masculine gender), mos (feminine gender), Mo€ (neutral gender), mou (plural). For example, it is
wrong to say: 1o Moi xkeHa. The noun “xeHna” is of feminine gender, therefore, you must choose
the pronoun “mos”. And then the correct answer is: 910 Mos keHa.

Compare correct and incorrect answers in the table below:

ITO MO cecTpa. — MPaBWJIBHO. DTO MOU CECTPA. — HEMPABUJIBHO.

370 MO# Opar. — MpaBWIBHO. ITO MOsI OpaT. — HEMPABUJIBLHO.

ITO MOS MalllMHaA. — IPAaBWJILHO. DTO MOE MalllHA. — HENIPABUJIBHO.

IT0 MOi1 coOaKa. — HEPABUJIBLHO. DTO MOsI co0aKa. — MPABUJIBHO.

DTO MOH JIETU. — HEMPABUJIBHO. DTO MOU JAETH. — IpaBwibHO. (Plural noun)

ITO MOW KOMIIBIOTEP. — IPABWJIBHO. DTO MOSI KOMIIBIOTED. — HENTPABUJIBHO.

ITO MOY APY3bsl. — HENIPABUIBHO. DTO MOU APY3bA. — IPABUJIBHO.

11
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The Singular and Plural Nouns

For the nouns of masculine and feminine. When the stem ends in K, I', X, I, III, 2K, Y or
a word ends in —b, the ending is 1. When it ends in other letters, the ending is — bI. For example,
mammHa — mammnbl, kaul'a — kaurH, croJI - cronbl

The nouns of neutral gender in plural have endings —A, — 1

For example, OKHO — OKHA, A0 —sWIA

Some nouns form plural number in other way. These words you have to memorize!

Hepeso (1) — nepeBbs (many)

Pe6éHok — netu

Hpyr — apy3ps

VYuurens — yunrens

HoM — noma

YesoBek — JIoau

I'na3 — raza

I'opon — ropona

Exercise 2.

Find the meanings of the words in the dictionary. Make on the sample. Sample: kaura — kaurll

Kosnutorep Bpau
Pramc Teneton
MarasuH Busa
CHrapeTa Yenopex
OkHo Momuaop
Mickmo JliumoH
Keapmipa Cymra
Kok KomHara
Ao Moapyra
[Hxona Cran
BonbsHMLE Pyuka
Kpy#ka PefieHoK
Hoo BONpOC
“.Ii].l]i..'{:lll[ TYANeT
.'\I.-I-']'[ilﬁ_'.'(' MYHUHHA
Jlucr JEBYILIKa
Tetpajas cofgar
Cnosape pyKa
Aeprano HOTa
Kpy#ka KpOBaTE
_'."llh TEL Ao
Apyr CTaKaH

12
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The Model - ¥ Bac ectnb..? =Do you have...?

Bkl — BAC
1 -MEHHA
2 Mbl — Hac
Thl — Teba
Y OH — Hero
OHa — Heé
OHH - HHX

ECTh

Case 1

Yro?

Kto?

Note that in case of positive answer to the question the ending of a noun does not change: —
¥ Bac ectb mammHa? (Do you have a car?) — Y mens ectb mammsa (I have a car). The only difference

is that “Y Bac...” has changed to “Y mens...”
Exercise 3.
Give the positive answer to the questions:
1.V Bac ectb pyuka? ¥V meHs. ..
2.V Bac ectb Tenedon?
3. ¥V Bac ectb KOoMnbIOTEP?
4.V Bac ectb nacnopr?

5.V Bac ectb 3JIeKTpOHHAast mouTa? (=e-mail)

At the negative answer the noun’s ending changes. It depends on the gender of a noun. You can

look changes of endings in the table.

Compare: ¥V mens ectb Opar. (I have a brother). — ¥ mens nver Opara. (I have no brother).
In the first sentence you answer positively to the question. The ending of the word “Gpar” does not
change. In the second sentence the ending of the word “Gpar” has changed. As the word “Gpat” is
of masculine gender, so the ending changes to —A. YV mens Her 6patA. Remember that when you

use the word “Het”, the ending of a noun is always changing! We cannot say: ¥ mMeHs HeT Opar.

Compare the sentences: Y mens ectb cectpa. (I have a sister). — Y mens ner cectpsl. (I have
no sister). In the first sentence the ending of the word “cectpa” does not change, as the answer is
positive. In the second sentence the ending of the word “cectpa” has changed from —A to —Ubl, as
the word “cectpa” is of feminine gender. Thus, in the model “Y mens Her...” an ending of a noun

changes in relation to a noun’s gender.

13
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The Model — Y mensa ner... =I have no...

a-MEHH
Bbi - BAC Case 2
Case 2 Mbl — HaC HET

¥ Thi — TEbA Masculine - A, - A
OH — HETD Feminine = bl, - H

OHa — Heg

OHH — HHX

If you notice, there are 2 endings in masculine and feminine genders. There is a question what
to choose —bl or —U, — A or -51? When the stem of a noun of masculine gender ends in a hard
consonant, then the ending is — A. When the stem of a noun of masculine gender ends in a soft
consonant, then the ending is — 4. (Memorize: YA, IIIA are written with A!)

When the stem of a noun of feminine gender ends in a soft consonant or in K, I', X, I, ITI, 7K,
then the ending is 1. When it ends in other letters, then the ending is — bI. However, it doesn’t matter,
if you replace —A with —{, and —bl with —MU, it won’t be very noticeable when pronounced-)!
The MAIN THING, that you should memorize: in case of positive answer to the question in the
model “Y Bac ectb..?” the ending of a noun does not change. At the negative answer the noun’s ending
ALWAYS changes. It depends on the gender of a noun. Noun’s ending varies in six cases in Russian.
So, at the positive answer we use case 1 (the nominative form, the noun’s ending doesn’t change), at
the negative answer we use case 2 (the noun’s ending changes to the second ending in relation to the
gender of noun).

Answer the questions, using the tables. Don’t forget to change endings of nouns at the negative
answers.

V Bac ectb Opar?

V Bac ectb cectpa?

VY Bac ecrtb ckaun?

V Bac ectb padota’?

¥V Bac ectb komka?

V Bac ectb cobaka?

V Bac ectb MauMHa?

¥V Bac ectp Banan (=Whatsapp)?

V Bac ectb HOYTOYK?

VY Bac ectb (pakc?

¥V Bac ectb Meura?

V Bac ectb TeneBU30p?

V Bac ectb npuHTEp?

V Bac ectb Besocunea?

V Bac ectb cioBaps?

Only pronoun changes at the positive answer: ¥ meHs. .. The ending of a noun does not change.

Correct answers at the negative answer: (HET + Opara, cecTpsl, ckaiina, paOOThI, KOIIKH,
co0aKH, MaIlIMHBI, Balana, HoyToyKa, (pakca, MeuThl, TeIeBU30pa, IIPUHTEPA, BEJIOCUIIE/IA, CJIOBAPS).

Memorize!

€CTb JICHbI'M — HET JICHET, €CTh IPOOJIeMbl — HET IIPOOJIeM, €CTh BpeMsI — HET BpeMEH!

14
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The Past Tense, the Present Tense, the Future Tense

CASE TENSE CASE
I Present
wp. Bl EYAET
(Case 2) (m. HAD) (WILL HAVE)
¥+ (=1
=p. BhUTA EYAET
(. HAIY ECTh [WILL HAVE )
(HAS, HAVE)
cpp. BRAD
{n. HAD) BYAET
[WILL HAVE}
wit,u, EhLTH
(pl HAD) EVIIVT
(WILL HAVE)
CASE TENSE CASE
Past Present Future
M,
(Case X) #.p. HE BBLTO [HAD MO HET He fypeT
¥+ cp.p. (HAS NO, WILL HAVE NO (Case 2)
MM HAVE M)

Let’s talk about the Tense. Models: ¥ meHst ectb... ¥ meHs Her... are in the Present Tense.

When we want to say about that we once had, we use a verb in the Past Tense. For example:
VY mens ectb codaka. (I have a dog.) — the Present Tense. Y Mens Obina codaka. (I had a dog.) — the
Past Tense. In the Past Tense the endings of verbs change in relation to noun’s gender and number.

Compare:

V mens ectb maHc. (I have a chance.) ¥ mens ectb padora. (I have a job.) 9 MeHs ecTh nna-
HuHo. (I have a piano.) ¥ mens ectb nensru. (I have money.). — the Present Tense.

V¥ mens 0bL1 maHc. (I had a chance.) — m.p. (m.). Y meHs 6bLIA padotA. (I had a job.) — x.p.
(f.). ¥ mens 66110 nmanuHO. (I had a piano).— cp. p. (n.). ¥ mens 611/ nensrU. (I had money) —
plural. — the Past Tense.

V mens oynet masc. (1l have a chance). ¥ mens oyaer padora. (I'll have a job). ¥V Mens
oynet ruaruHo. (I'll have a piano). ¥ mens 6yayt aensru (I'll have money). (plural). — the Future
Tense.

All examples are for a positive answer. Don’t forget, that the verb BbITbH change only.

At the negative answer the verb BbITb change only, the noun’s endings remain unchanged
(-A, -4, -bI, -N)

Exercise 4.

Make on the sample:

V MeHs HeT paboThl. — Y MeHs He ObLI0 padoThl. — Y MeHs He OyaeT paboTHI.

VY MeHs ecThb padorta. — Y MeHs ObliIa padoTa. — Y MeHs OyaeT padora.

1. YV Hero ectb TenedoH. —

2.V MeHs ecTb KBapTHpa. —

15
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3.V He€ ectb cecTpa. —
4.V HUX ecTh COOAKH.-
5.V MaMsbl eCcTh I€HbI'A. —
6. Y Opara ecTh xKeHa. —

7. Y MeHs1 HET MallluHbl. —
8.V Hero Her neHer. —

9. ¥V meHs HeT npodieM. —
10. Y Hac HeT BpemeHu. —
11. Y mamsbl HET pabOTHL. —
12. 'V Bac ectb ciioBapb?

13. ¥V MeHs ecTb BOBMOXHOCTb (K.p.).
14.V neé€ Her (akca.

15.V cryneHra HeT BU3HI.

16
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The Possessive Pronouns

When you want to know to whom the subject or human belong you use the model YEM..?
(WHOSE...?

Depending on the gender and number of a noun you choose Yei1 310 ...? Ubs 3710..7 Ub€ 370...7
or Ysn 3710..7 For example, Ubs 310 Mammmna? (Whose is this car?) (mammna is of feminine gender
so we use Yb{), Yei1 ato tenepon? (Whose is this phone?) (tenedon is of masculine gender so we
use YEN) Ubé 510 masisro? (neuter gender) Ysn 310 teHpru? (Whose is this money?) (plural). In the
table above you can find the correct answers to questions that begin with YEM? Ub4? YbE? UbN?

Yei? Masculine Ynn? Feminine YeE? Meuler Yuu?  Plural
(=) Pl iy ) Mlom Muoé Mon
(samst) Ham {our) Hamsa Hauue Hauuw
(L] Tmodi (your) Tnan Tt Tnow
() Bamn | Your) Bama Bamw B

[ost) Ero (his) Ero Erm Em

{ona) E (her) Ed Ei Eé

(oanm) Hx [their) Hx Hx Hx

When an object (or a person) is your property (belongs to you), choose the answer: 910 Most
MarmHa. 1o Mol TesedoH. 1o Mou eTr. 1o Mo€ naykTo. Pay attention, that pronoun changes
in relation to the noun’s gender and number. 910 Mo#i mMamuHa — incorrect answer. MarmHa —
feminine gender. So, the correct answer is 9To MOsI MallIMHa.

Exercise 5.

Make on the sample using the table.

The sample: Yeit ato cnoBapb? (Whose is this dictionary?) (s1). — 1o moii cioBapb. (This is
my dictionary).Yeii ato kimou? (Whose is this key?) (on) — 1o ero kimou. (This is his key).

1.Yei#1 aTo kapanpgami? (OH) —

2.Yp4 310 pyuka? (1) —

3.Yps 310 cymka? (oHa) —

4.Ypu 310 IeHpru? (BbI) —

5.YUbs 310 KypTKa? (OH) —

6.Yei1 310 Km104u? (1) —

7.Yu 510 netu? (OHU) —

8.Yeii ato cnoBaps? (oHA) —

9.Yei1 sto Tenedon? (1) —

10.Ysu 510 Bemu? (oHM) —

11.Yeit 310 pe6EHOK? (OH) —

12.Ypsa 310 ommoka? (1) —

17
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The Numeral

1 —oguH 2 — n1Ba 3 — Tpu 4 — yerbipe S5 — ATh 6 — MIEeCTh 7 — ceMb 8 — BOCEMb 9 — IEBATh

10 — necarp 11 — onunHaauate 12 — geeHaguars 13 — TpuHaauath 14 — yeTblpHaALATD

15 — maraagnate 16 — mectHaguath 17 — cemHaauarh 18 — BocemHanuaTs 19 — meBATHAINATD

20 — nBaguare 30 — tpuanars 40 — copok S50 — naTeaecat 60 — mectbaecar 70 — ceMbaecAr

80 — Bocempbuecar 90 — neBssHocto 100 — cro 200 — nBectn 300 — Tpucra 400 — yeTbipecTa

500 — marecot 600 — mrecrecor 700 — cembecor 800 — BocembcoTr 900 — meBsarncor 1000 —
THICSTUA

Memorize!

1 py6mb, gonnap, 10aHb, EBpO

2, 3, 4 pyOns, gosuiapa, 10aHs, €Bpo

5... pybneii, Jo/ulapoB, 0aHell, eBpo

OnHa TeICSTUA

HBe, 3, 4 ThICAUM

5... THICSY

1 Munmon

2, 3, 4 MuIOHA

5... MUJUIMOHOB

As you see from the examples, the endings of the nouns in combination with numerals differ.
It depends on what numeral is used: 1 or 2,3,4 or 5 or more. It should be just memorized!

18
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Model Cxoabko crout..? =How much is..?

Answer the questions:

CkoupKo crouT Batll ciioBapb? Mot ciioBapb CTOMT. . .
Ckoupko crouT Bala pyyka? Most pyyka CTOUT. ..
Ckoipko crouT Bata cyMka? Mos cyMKa CTOMT. ..
Ckoipko crouT Bata Terpaab? Mos TeTpajib CTOUT. ..
CkosbKO cToAT Baiy yacel? Mou yacel CToAT. ...
Crkonbko crout Ouer B aBToOyce? buser crowr. ..
Ckonbko crout Bal Kapanaai? Moy kapaHjail CTOMT. ..
Ckonbko cTout Koka-kosa? Koka-Kkoma CTouT. ..
CkornbKo cTouT Baill yueOHHUK? Mo#i yueOHHK CTOMT. ..
Ckomnpko crout Bat TesnedoH? Mol TeneoH CTOUT. ...

19
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= not for long

= action completed

2. Imperfective
Aspect

= many times

long

action uncompleted

suffix —J1I

m.p. — JI (cqa)
K.p. —JIA (cb)
cp.p. — J10 (ck)
mH.u. — JIH (cB)

usually, rarely,  often,

constantly, never)
1 conjugation

1 =¥ (-10) (-cw)

Ml -EM (-cA)
ol — ELLIb (-c51)
Bbl — ETE (-cb)

oH, oHa - ET (-ca)
ouu - ¥T (-KOT) (ca)
2 cripszKeHHe

a =¥ (-H0) (-cB)
Mmbl -UM (-csa1)

Tol — UILIb (-ca)

Bel — UTE (-CB)

OH, oHa - UT (-ca)

onu - AT (-AIT) ()

Table Nel,

Past Tense Present Tense Future Tense
Aspect (imperfective, | Aspect (imperfective) Aspect (imperfective,
perfective) perfective)
1.Perfective Aspect 1. Imperfective Aspect 1. Perfective Aspect
= one time (now, always, sometimes, | (soon)

1 conjugation

A =¥ (-H)) (-cB)

Mbl -EM (-cs)
1ol — ELLb (-ca)
Bel — ETE (-cB)

oH, oHa - ET (-cs)
oHH - ¥T (-HOT) (-ca)

2 cripsKeHHe

A =¥ (-H)(cB)
mbl -UM (ca)

Tel — MILIb (-cA)
Bbl — UTE (-cb)

oH, oHa - UT (-ca)

oun - AT (-AT) (-ca)

2. Imperfective Aspect

1 Oyny, mel Oygem, Tbl
Oypews, Bbl Oymere, OH
(oHa) Byaer, oHu ByayT

+ infinitive
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The Formation of the Past Tense of Verbs

The formation of the Past Tense in the Russian language is rather simple. (There are only
3 Tenses: the Past, the Present and the Future).

To form the Past Tense of a verb correctly, you just have to remove -Tb and add —JI, -JIA, -
JIO, -JIN, depending on a gender. For example, let’s take the verb “kynurs”.

To form the Past Tense of the verb, we remove —Tb and add JI. On kynwi. (He bought.) Ona
kymuia. (She bought.) Onu kyrmuim. (They bought.)

CkazaTb — OH CKa3all, OHa ckazaja, oHu ckazanu. (To tell — he told, she told, they told).

When a word ends in —C#, -Tb is removed, but —C# remains. For example, yuntbcsa — oH
yuuJsIcs, OHa YYWJIach, OHM yUMJIMCh. You can see all variants in Table 1!

Exercise 6.

Make on the sample, using Table 1. Find the meanings of the words in the dictionary.

Sample: ITucats — OH nucan, oHa nucasna, oHu nucaiau. BepHyTecsa — OH BepHyJICs, OHa Bep-
HYJIaCh, OHU BEPHYJIUCb.

Hatp —

Yuure —

Yuureca —

AKurp —

XOOuTh —

Ezmnte —

3BOHUTH —

Bunery —

XoreTb —

Paborarp —

Kynute —

3aBTpakarp —

Oobeparp —

VYxunaty —

I'ynare —

At the positive answer in the Past Tense you say: 4 rynsn.  yxunan. f 3soHmi. At the negative
answer in the Past Tense you just add HE. {4 ne rynsan. (I didn’t walk). I ne yxunain. (I didn’t have
dinner.) 4 ue 3Boamnn. (I didn’t call.)

Exercise 7.

Give a negative answer. For example: Bor padoramu cerogus? (Did you work today?) — 4
He pabora. (I didn’t work.)

1.Bb1 3aBTpakau cerogHs?

2.Bwb1 paboTanu cerogHs?

3.Bwi ryssim ceropHs?

4.Bbl yYWIIUCh CETOIHSA?

5.BeI UM cerogHsA yTpoMm cok?

Don’t forget that if you are a woman, you should add —JIA: {1 ve pabotaJlA.

When several persons are mentioned, you should add —JIW: Mui He padotaJll.

As you already know, the Past Tense of verbs in Russian is formed from the verb’s stem
by means of the suffix —JI. Some verbs form the Past Tense another way. You should learn these
verbs.
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For example, the foreigners often say: O ymepen. (from “ymepers”) or OH omMOWIICS.
(from«ommubuThes”). It occurs that automatically —Tb is removed and — JI is added. Of course,
Russians most likely will understand you, when you say so. But you wish to speak beautifully, don’t
you? -)

And how to form the Past Tense of the verbs “ymepers” and “ommoutbesa”, you can find
in table 2.

In the table below verbs are grouped by a principle of analogy. First learn the formation of the
Past Tense of verbs in column A. Of course, there are more such verbs than you can see in the table.
But these ones are enough for the first time. Find the meanings of these verbs in the dictionary or
in the end of tutorial.
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Table Ne 2,

The verbs forming the Past Tense similarly to the

A verbs in column A
Wamu (imperfective) | Ha-iiTi (perfective) [Mopo-iiTh (perfective)
IIén Bui-iitH (perfective) [Mpu-iiT (perfective)
1 Hlna Bhi-idTH 3aMyH (no | Paso-iTH-cb (perfective)
[lam mascul.gen.!) Y-iiru (perfective)

3a-iitu (perfective)
Io-iiTH (perfective)

[Tepe-iitu (perfective)

E-ctk (imperfective)
En

2 Ena

Enu

Hapoe-ctb (perfective)
[Mona-cte  (perfective) =
ABapHIO

IMona-cte (perfective)
ITpona-ctk (perfective)

Ce-ctb (perfective)
¥na-cte (perfective)

Mo-uk (imperfective)
Mor

3 Morna

Mornm

Cwmo-us (perfective)

Jle-uk cnare (perfective) - nér
Crarb

MoacTpu-us-ca (perfective)
IMomo-us (perfective)

bepe-us (imperfective) -
Bepér

PacTtu (imp.)

Bui-pactu (perfective)

poc
4 pocna
pocau
Jamépa-HyTh OTtebIK-HY TS (perfective) Cnac-tu (perfective)
(perfective) [Morub-uyTts (perfective) [Tpomok-HyTE (perfective)
5 3amépa [MpuBkik-Hy T (perfective) Ymep-eth (perfective)
3amépana [Morac-nyts (perfective) Ownb-urb-ca (perfective)
Jamépanu Otnec-md (perfective) Otees-tu (perfective)

IMpunec-tv (perfective)
YHec-TH (perfective)
IMepenec-TH (perfective)
IMpuses-ti (perfective)

Hoees-Tu (perfective)
[Mepeses-TH (perfective)
Yees-TH (perfective)

Hc-ne-us (perfective)
Henék

6 Hecnewrna

Hcnewnu

MMe-uk (imperfective)

Obxeyb-cs
7 (perfective)
Obxérca

Oboxrnack
OBOMIHCE

O6xeus (perfective)

Be-ctu (perfective)
8 Bén

Bena

Benu

[Nepe-se-ctu (perfective)
[Tpo-pe-ctu (perfective)
Pa3-pe-cTu-chb (perfective)

Exercise 8.

Form The Past Tense of the verbs using table 2.
Sample: oTBe3TH — OTBE3, OTBE3JIA, OTBE3JIH.

1.IIpoBectu
2.Ileun
3.Moub

4. 3aMEp3HYThH
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5.Noru6HyTH

6.Pactu

7.Hanoectb

8.Pazoiituch

9.Ecth

10.Viitn

11.01BE3TH

12.ITomacth B aBapuio

13.ITomoub

14.IToncrpuuscs

15.Ynacrp

16.BpliiTu 3amMyx

17.IlornGHyTH

18.PazBectuch

19.IlepeBectu

20.ITpuBBIKHY T

THE PRINCIPAL DIFFERENCE OF THE FORM OF THE PAST TENSE IN RUSSIAN
IS THAT THE FORM IS NOT DETERMINED BY THE MOMENT OF SPEECH AND THE
RESULT OF ACTION. If any action is done even a fraction of a second ago, it is already the Past
Tense

There are 2 verbal aspects in Russian: perfective and imperfective. (Further we will denote
them abbreviated as (perf.), (imperf)).What is the difference? When an action is taking place once,
use the verb of perfective aspect. When an action is taking place several times (repeated), use
imperfective aspect. L.e., if you walked to the shop yesterday and bought (once!) a pack of juice,
it would properly to say: “A Buepa Kymua B marazuHe cok W curapeTsl. But if you, for example,
something bought constantly before, you should say: “fI pansbiie (yacto) mokymaa msico”. (“I (often)
bought meat before”. ) In this case, an action is taking place several times (repeated), so we use the
verb of imperfective aspect.

Or another example. Feel the difference: {1 Buepa mpouuraJ (c.B.) KHUTY. — { UnTa  BUepa
(u.B.) kHury. (Yesterday I had read (perf.) a book. — Yesterday I read (imperf.) a book.) When
“npounTtain”, it means till the end. When “uurain”, it means that reading is not yet finished. In the first
example, the action is completed, in the second one the action has not yet completed.

One more example. Compare: I noroapuBaJgcs. (I arranged.) (moroBapuBaTbcsi — H.B.)
(to arrange — imperf.) and 1 moroBopmJcs. (I have arranged.) (moroBoputhcsi — c¢.B.) (to have
arranged — perf.). In the first sentence the action has not yet completed as there is no result. In the
second sentence the action is completed as there is the result.

The verb “maBatb — matp” (to give — to have given). Compare: On gaa mue aensru. (He gave
me money.) On maBaa MHe aeHsru. (He gave me money.) The action is done in the past for both
verbs (no matter when). But the difference is that using the verb “nan” the Russians understand that
the money was received once. And in the case of using the imperfect aspect “naBan”, money was
received several times.

Haputh — nogaputs. (to present with — to have presented with) Read the following sentence and
define of what aspect the verb “nogaputs” is and why? Mos nogpyra Buepa mogapmuja MHE 4achl.
(Yesterday my girlfriend presented me with a watch. Let’s speculate! We are talking about yesterday’s
event. The girlfriend presented me with a watch once. Therefore, the use of the imperfective verb
is inappropriate. We can draw a conclusion that the verb “nogapuna” is a verb of perfective aspect.
And if we take another example: B nercrtee nana Bcerna JapuJa MHE LBETHI Ha JIEHb POXKIEHUS.
(When I was small, my dad always presented me with flowers for my birthday.) We are talking about
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a repeating event that occur over a period of time. Therefore, the verb of imperfective aspect should
be used.

Of course, at the beginning it will be difficult to grasp, what the aspect of a verb to choose
to form the Past Tense. But, as you study the language, you will catch in correct using. Just in case,
I repeat. In the Past Tense the verbs of perfect aspect are used:

1. Action is taking place 1 time.

2. Action is completed, there is a result.

The verbs of imperfect aspect are used:

1. Action is taking place several times (repeated).

2. Action is not completed, there is no result.

The most important in the formation of the Past Tense is suffix — JI! And, of course, learn
the verbs from table 2.
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The Present Tense

The Correlation between Tense and Verbal Aspect

As you already understood, at formation of the Past Tense in Russian 2 verbal aspects and
suffix-JI are used. What is the correlation between an aspect of a verb and the formation of the Present
and the Future Tenses? We’ll talk about this later, but now let’s talk on another point for the beginning.
All verbs in Russian in the Present Tense and the Future Tense change their endings depending on
pronouns. For example, the verb “3nats”. Depending on a pronoun the verb will change: fI 3Hat0. Mb1
3HaeM. Tol 3Haemb. Bol 3Haete. OH, oHa 3Haer. OHM 3HaOT. Another example. Paborats — (H.B.). 1
pabotato. Msl padotaem. Trl pabotaeris. Bol paboraere. OH, oHa padotaet. OHM paboOTaIoT.

And all these changing forms need to learn! (Do you still want to learn Russian? -)). It’s wrong
to say: 4 padorars. Or: { paboraem. When “s1”, s0, it’s correct to say: I padoralO.

The verb “3Hatp” is of imperfective aspect. This means that the phrase “fl 3Hat0” refers to the
Present Tense. Why? The fact is that the Present Tense of verbs in Russian is formed from the verbs
of imperfective aspect only! Thus, when you want to say about what you're doing now or about
repeated action, you use the verbs of imperfective aspect. To the question “Yro TbI certuac nenaenib?”,
you can answer, for example, 51 ynrapo. (unrars — H.B.). {1 crumo. (cnath — H.B.). $1 paboraro. (pado-
TaTh — H.B.).

One more example. fI nokynaio npogykrsl. (mokynars — H.B.). Compare, for example, with the
phrase “ kymumo (kynuth — c.B.) mpoaykTsl”. The verbs kynute-nokynare have one and the same
meaning and differ in aspects only. While in the first sentence, we are talking about an event that
occurs at the present moment (for example, you are in a store and talk on the phone) or about repeated
event. The verb “nokynars” is of imperfective aspect, it refers to the present tense. The verb “kynutp”
is of perfective aspect, therefore, all forms formed from it, refer to the future tense. For example,
when Russian says: “A kymmo mammny”, the Future Tense is meant. (You'll read more about the
Future Tense in the next chapter). An example of repeated action, when the verbs of imperfective
aspects are used and which refer to the Present Tense, are the following sentences: “fI e3xy (e3aUTh —
H.B.) Ha paboty Ha aBToOyce”. (“I go (to go — imperf.) to work by bus”. ) “Jlerom yacto uayt (UaTH —
H.B.) noxau”. (“It rains (to rain — imperf.) often in summer”), « fI 4yacTo 3BOHIO (3BOHUTH — H.B.)
nomoit”. (” T often call (to call —imperf.) home”. ) In table 1 you can see all endings of verbs. Pay your
attention, that endings of verbs are different. For example, On yuurcsa (H.B.) — the ending is — UT.
On paboraer (H.B.) — the ending is — ET. The choice between —ut or —er depends on conjugation
(the 1st conjugation predetermines the verb’s ending —ET, the 2nd conjugation predetermines -W1T).
Your brain might blow up from the amount of information that you need to remember. Therefore,
in order to make this task easier, at the initial stage the verbs will be given in finished form. The main
thing is to change the ending of a verb in relation to pronoun or noun.
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The Future Tense

The Future Tense is formed from the verbs of perfective aspect, for example “3B0HUTBH — 1103BO-
HuUTh” (to call — shall/will have called). 3BonuTs is the verb of imperfective aspect, so we can form

The Present Tense from it only. “Tlo3Bonuts” is the verb of perfective aspect of the ond conjugation,
so from this verb we can form only the Future Tense. I mo3BoHto. Mbl 103BOHUM. Thl TO3BOHUIIID.
Bui no3Bonute. OH, oHa 11o3BoHUT. OHKU No3BOHSAT. I.e. when Russian says “$1 3BoHI0 10MO¥i YacTo”,
the Present Tense is meant. But the phrase “On no3Bonut MHe” means that someone will phone me
in future. The endings of the verbs of perfective aspect such as of the verbs of imperfective aspect

depend on their conjugation (1St or 2nd).). 4 cmemaro. MuI coenaem. Tol coenaems. Bel cnenmaete. OH,
oHa caenaer. Onu caenaior. See table 1.

So, you should know the aspect of a verb which you use to construct a sentence correctly. When
you talk about a future event, you should use a verb of perfective aspect. When you talk about an
event which is repeated or is taking place right now, you should use a verb of imperfective aspect.

Conclusions

At forming The Past Tense the verbs of perfective or imperfective aspect are used. At forming
The Present Tense the verbs of imperfective aspect are used. At forming The Future Tense the verbs
of perfective aspect are used.

The endings in Russian in the Present Tense and the Future Tense vary in relation to pronouns
(1, MBI, TBI, BBI, OH, OHa, OHHM) O NOUns.

The choose of ending —EM or (-MIM), -EIIb (-UIIb), -ETE (-UTE), — ET (-UT), — IOT (-

AT) depends on the conjugations (1*' or 2nd).

Sometimes the Future Tense is formed with the help of the verb BbITb + Infinitive
(imperfective aspect). For example: I Oyny padorars. Ml Oymem padortars. Tl Oymernis padoTars?
Br1 6ynere paborars? On Oyznet padorars Tam? Onu OynyT padortars? This variant is used when an
event refers to the future or it is long in time (repeated). 9 Oyay 3Bonuth yacro. (I'll call often). g
Oyny moouthb Te0s Bcio ku3Hb. (I'll love you all my life). g 6yny yuutbes. (I'll study). The forming
of the Future Tense in such way is rather rare, than the forming of the Future Tense from the verbs
of perfective aspect.

At the end of the textbook you will find the table of all verbs used here, in which verbal aspect
is indicated on purpose you to know what Tense can be formed from one or another verb.

Exercise 9.

A) Find the meanings of the words in the dictionary. Define the Tense of the verbs. Learn them!

JKUTH (H.B.) | CIIp. 51 KUBY, MBI )KUBEM, ThI )KUBEILIb, Bbl JKUBETE, OH, OHA KUBET, OHU KUBYT.

yuuThCs (H.B.) 2 COp. s y4yCh, Mbl YUUMCS, Thl YUMIILCS, BBl YUUTECh, OH, OHA YUUTCS, OHU
yJarcsl.

pa6oTats (H.B.) 1 crip. s1 paboTaio, Mbl padoTaeM, Thl padoTaelllb, Bb paboTaere, OH, OHa pado-
TaeT, OHW padoTaIOT.

rOBOPHUTH (H.B.) 2 CIIp. 51 TOBOPIO, MBI TOBOPYM, Tl TOBOPHIITH, BB TOBOPUTE, OH, OHA TOBOPHT,
OHU TOBODHIT.

Y2KMHATh (H.B.) | cIIp. s y’)KMHaI0, Mbl Y’KUHAEM, Thl YKUHACIIb, BBl YKUHAETE, OH, OHA YKU-
HAeT, OHU YKUHAIOT.

3aBTpaKaTh (H.B.) | crp. s 3aBTpakaio, Mbl 3aBTpaKaeM, Thl 3aBTpaKaelllb, BbI 3aBTpaKaeTe,
OH, OHA 3aBTPAKaeT, OHU 3aBTPAKAIOT.

obenarh (H.B.) 1 crip. s 0bemaio, Mbl 0Oe/iaeM, Thl 00e/Iaeilb, Bbl oOeaeTe, OH, OHa o0elaeT,
OHH 00e/aloT.
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NOKynarth (H.B.) 1 CIIp. 1 NOKyNaw, Mbl IOKYIIAeM, ThI ITOKYIIA€lllb, Bbl MIOKYIIAETE, OH, OHA
MOKYIIAeT, OHU MOKYIAIOT.
JaBarthb (H.B.) 1 crp. g nao, Mbl Ja€m, Thl 1a€Nlb, Bbl JAE€TE, OH, OHA €T, OHU JAIOT.
Jath (C.B.) s 1aM, MbI IaJINM, Thl Aalllb, BbI JQJUTE, OH, OHA JIACT, OHU Ja/IyT.
OTABIXaThb (H.B.) 1 CIIp. s OTABIXAI0, Mbl OT/ABIXa€M, Thl OT/IbIXAEIllb, Bbl OT/IbIXa€Te, OH, OHA
OT/IbIXa€T, OHU OT/IbIXAIOT.
b) Form the Present Tense and the Future Tense on the sample.
Sample: 4 ... (padotats). — 4 padoTaro.
. OH ... (KUTB).
. Hetu ... (pabotartp).
.—BbI ... (3aBTpakarp)?
.—Bbl ... (yuurtbcs)?
. Pe6€HoK yxe ... (roBoputb)?
A ... (ykuHathb).
. Ponurenmu ... (oGenath).
. A ... (mokymnars).
. OH ... (matp).
10. OH... (naBath).
11. = Tor ... (otoeixath)? — Her, 51 ceromus ... (padbotats).
B) In what sentence a verb of the Future Tense is used? Why?

N e N N O
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Table 3.
Case, Prepositions, Endings
questions words
Of nouns Of adjectives
M.p. Kakoii? —oii,- uil, - bii
Kro? 3710, eCTh Kp -a-a Kakan? — an, -an
Yro? C.p. -0, =& Kakoe? — oe, -ee
1 Mu.y, —n, -bl Kakue? — ue, -bie
M3, y, Bes, ¢, oT,
Orrrypa? AMA, H3-33, Mang, | Mp. -—a,-a Kakoro? -ero, -oro
¥ woro? MEOTD, HET, HKp. -blL-H Kakol? - eH, - oi
Yero? SHENDD: TIOLAe Mli.u, Kakux? -Mx, -BIX
2 HECKOBKG
Komy? Mp. - -0 Kaxkomy? — omy, -emy
K womy? K (kn), no Kp -e Kakoii? — o, -eii
Uemy? MH.u. — am, - M Kakum? — uM, -bIM
3
Kyna? M.p. Kakoii?  —wil,-biid,-oii
Yro? B, Hp -y -0 Kaxyio? — yio, - 10
Korga? Ha, 3a, npo, Cpp.-o0,-8 Kakoe? - oe, -ee
Yepes MH. 4. — H,-Bl, -A,-a Kakne?  -mie, - He
Koro? M.p.—a,-a Kakoro? — oro, -ero
4 H.p.—v, -0 Kakyw? - yio, -1010
MH.u. Kakux? — bix,-HX
C kem? C (co), 3a, Haa, M.p. -—om, -em Kakum? - HM, -BIM
Yem? noj, nepep, A.p. - oii, -eii Kakoi?  — eid, -oii
Kem? MEXAY MH.U. — aMH, ~AMH Kakumu? — HMH, -bIMH
5
[pe? B, Ha, M.p. -e Kakom? -em, -om
O uiim? 0, TpH Hp -8 Kakoit? - oif, - el
Korpa? MH.u. —ax, -ax Kakux? - ux, -bIx
6

In table 3 you can find all endings of all nouns and adjectives in relation to their gender, number

and case
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Model - I'ne..? =Where...? (case 6)

Exercise 10,
Find the meanings of the words in the dictionary, leam them, make on the sample.
Sample; Marasm — p marasiE, pabiota — wa paborE, Kopes — p Kopee { Don't forget in nouns of feminine gender to remove the ending -A,
-A and then add the ending —E
B
|_||'|:'rr|pu1! MCTHHALD |.||||:-|111'_\'r
Hrr||~|_||1:'| TakH KT ROA
AEECATHH Hﬁl‘lt‘“ YR
TV aneT AnsepHEa KnTal
TeaTp GoABHULE KOpHAOR
VHHBEPCHTET ofiuc napk
T Empona Mo KAy - B pounom knybe
Tasnana UEHTR
Eaife
HA
LEE pabioTa
A - PHIMOK — W3 phitike
BOXIAN h.ll..l|,r||-|il-!
nogTa '\ THLLS
VPOK CTOAH KA
BOCTOK CEBEp
JAasa - B0 -

Remember! (exceptions to the rule)

Poccust — B Poccum, roctt — B rocTsix, Oeper — Ha Oepery, a3poropT — B a3poropTy, JAoMa,
SInonus — B SAINMOHMY, 1IEPKOBb — B TIEPKBH, OOIIEKUTHE — B OOIIEKUTHH, KOMIIAHUS — B KOMITAHUH,
CTOJIOBAsi — B CTOJIOBOM.

When Russian asks you a question using the model “I'me..?”, and you answer using a noun,
you should change a ending of a noun to — E (it’s case 6) and use the prepositions B or HA.
What preposition should be chosen? To make memorizing easier nouns are grouped into 2 groups,
depending on the preposition that they are used with.

Just learn-).

For example:

— I'me BbI pabotaete? (Where do you work?) — I padoraio B yauBepcutetE. (yHUBepcHUTET —
an university). (I work at the university.)

—I'ne ona padoraer? (Where does she work?) — Ona padoTaeT Ha BOK3aJie. (BOK3asI — a station).
(She works at the station.)

Exercise 11.

A) Insert B or HA:

...Oepery, ...3amage,... Mockse, ...Kopuaope, ... OONbHUIIE, ...TOCTHHHUIIE, ... Poccum, ...
padore, ...1MOYTE, ...pBIHKE, ...KUHO, ...My3€ee, ...a9POMNOpTY, ... UHCTUTYTE, ... Ore, ... IKOJe, ...
MarasuHe, ... TOCTSIX, ... BOK3aje, ... Tyajere, ...dnoHuu, ... AMepuke, ...IIepKBY, ... AOMA, ...
pectopase, ... OOIIekKUTHY, ... VIHTepHeTe, ... KOMIIaHuyY, ..... EBpore....kade
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Memorize: ropopurthb (to speak) + mo-pyccku (Russian), no-anrsmiicku (English),
no-ucnaicku (Spanish), no-ppannysckn (French), mo-kuraiicku (Chinese), no-samoHcku
(Japanese), no-Hemenku (German)

b) Answer the questions, using in reply the pronoun “SI” and the words in brackets. Note the
tense in which verbs are used. (The forming of the Present Tense see in exercise 9. Don’t forget to add
—JI or — JIA, when using the Past Tense).

1.I'ne BoI )xuBETE (MOCKBa)?

2.I'ne BbI xum (AMepuka)?

3.I'ne BBl yuurech ceiiyac? (YHUBEPCHUTET)

4.I'ne BBl y4nsInCh paHbliie? (1IKoJa)

5.I'ne BBl padoTaete? (kommanus “I'a3mpom™)

6.I'ne BBl roBOpUTE MO-pYycCKU? (MHCTUTYT)

7.I'ne BB TOBOPUTE MO-aHIJIMACKU? (0Ma)

8.I'1e BBl MOKyIaeTe MpoAyKThI? (Mara3uH)

9.I'ne BbI 3aBTpakau cerogus? (kade)

10.I'me BB 0Oenanu Buepa? (pecropan)

11.I'ne BbI y:xuHau BYepa? (1oma)

12.I'ne BBI 0OBIYHO 3aBTpakaeTe? (CTOIOBAS)

13.T'me BBI 0ObIUHO OOemaete? (kade)

14.T'ne BBI OOBIYHO YKUHaeTe? (Joma)

15.I'ne Bu otnpixaere? (Taumann)

B) In what sentences the verbs of the Present Tense is used?

I') In what sentences the verbs of the Past Tense is used?

Exercise 12.

A) Give a negative answer. Sample: Bol roBopute no-pyccku? (Do you speak Russian?) A
He roBopio no-pyccku. (I don’t speak Russian.) Bol kypunu cerogusa? (Have you smoked today?) A
He Kypua cerogss. (I haven’t smoked today.)

1.I'me BBI 00emanm cerogas?

2.I'ne BBl yxuHamm Buepa?

3.Bsl roBopuTe MO-KUTANCKU?

4.Bbl rOBOpUTE MO-SATOHCKU ?

5.I'me BBI 3aBTpaKkaiu cerogHs?

6.BbI roBopuTe NMo-UCaHcKu?

7.BbI yuutech unm padoraere ceivyac?

8.BbI roBopuTte mo-Hemeuku?

9.BbI roBopUTE MO-aHIJIMHACKU?

10.Bbt yuunuch cerogus?

11.Bb1 roBOpUTE MO-pycCKU?

b) In what sentences the verbs of the Past Tense is used?

In Russian language verbs determine an ending of a noun. You can easily choose a noun’s case,
when you are asked a question such as “I'ze..?” you should choose the ending — E (case 6) without
hesitation. But you will not always be answering only. You will speak-)!
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/AKuth (H.B.) To live
PaGorarh (Hec.B.) To work
YuuThcd (HeC.B.) | To study
BLITh To be

['oBOpPHTE (HEC.B.) NO-PYCCKH

To speak Russian

Kynuts (coB.B.) (=NoKynars)

To have bought (perf.) (= to buy)

BujeTk (Hec.B.)

To see (imperf.)

OTtgpixats (Hec.B.)

To have a rest (imperf.)

YokuHath (Hec.B.)

To have supper (imperf.)

Obeaars (Hec.B.)

To have dinner (imperf.)

3aBTpakarh (HeC.B.)

To have breakfast (imperf.)

BecTpeTuThes (COB.B.)

To have met (perf.)

[ToszHakoMHTLCA (COB.B.)

' To have got acquainted (perf.)

HaxoauTecs (Hec.BHj)

To be (imperf.)

PoauThcs (CoB.B.)

To be born (perf.)

Remember, after what verbs should be used a noun in case 6.

So you want to construct a phrase with one of these verbs. How will it look like? First you
define what Tense does an event refer to (Past, Present, Future). For example, you want to say where
you had breakfast this morning. The action took place in the past, then you use the verb “3aBTpakars”
in the Past Tense. If you are a man, add the suffix — JI: { 3aBtpakan. If you are a woman, add —
JIA: {1 3aBrpakana. Then change noun’s ending according to case 6 and use the preposition B or HA.
For example, let’s take the noun “rocrununa”. Change the ending, add preposition B and it turns out
B 'OCTHUHMULIE. So, we’ve constructed the phrase “f 3aBTpakai ceronHs B roctunuiie”. Another
example. If you are having breakfast, and someone phones you at this time and asks what you are
doing now, you should answer: “4 3aBTpakaio B roctunuiie”. In this sentence The Present Tense is
used.

Let’s take the verb “ormpixats” for example. After this verb should be used a noun in case
6, noun’s ending changes to —E. f + otneixain (the Past Tense) + a noun in case 6. The phrase {1
otapixan EBpomna is not correct.

If you have a rest in Europe every year, you should say “Kaxnplit rog st otasixaio B EBporie”.
(“I have a rest in Europe every year”. )

Or: 4 + yuuncsa + B Amepuke, a ceituac yuych (the Present Tense) + B Mockse.

Or: 51 o6bIyHO 3aBTpakaio + B Kade, odenaio + B pecropane, a yxkuHatwo + goma. (All verbs are
used in the Present Tense). The word “moma” doesn’t change as it is an exception.

Sure, you can use these verbs without nouns, for example: Cerogusi s1 otapixawo. S ceituac
obenato. 4 He padorai Buepa.
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The Use of the Verb BBITH

One of my students from Japan said that the Japanese never asked the question “Tel rae?”
This question seems to them indecent, almost the interference in private life. It does not apply to the
Russians. The Russians, when talking on the phone, after greeting ask a question “TsI rne?” probably
in a half of cases. That’s why we study this model one of the first. The advantage is that it is easy
to remember noun’s endings. The nouns of feminine an masculine genders change their endings to —
E.

Table 4.
e Pk L. The Present Tense The Future Tense
A Josma A Gyay
masc. B Mu Tam, 3geck M Gyaem
fem.  Gbina Tt B O0UIEwHTHH Tt Gypeuit
neut.  Be0 B B HHCTHTYTE Bl Gyaete
pl.. Gt Ou, oHa B MOCTAX O Gyner
M B Mockee OHu vy

The question “Bui tae?” (“Where are you?”) refers to the action taking place in the present.
When answering this question, the verb “OwiTh” is missing. For example: — Tsl rae? — 5 Ha padote.
In the Past Tense the suffix —JI is added to the verb. { 6bLT Ha padorte. (masc.gen.). 51 ObLIa
Ha paoote. (fem.gen.). Mbl Obutn Ha padote. (pl.). In the Future Tense the verb changes in relation
to a pronoun. For example: 51 6yny Ha padote. Thl Oynernis Ha padote. OHa OyneT B yHUBepcUTeTe?
You can see all variants in table 4. When in a question the verb “0bITh” is in the Past Tense, you should
use the Past Tense in a reply. When in a question the verb “OwITh” is in the Future Tense, you should
use the Future Tense in a reply. For example: — I'ne To1 6p1? (Where were you?) — 5 61 oma.
(I was at home.) Or: — I'me Tl Oygemb 3aBTpa yrpom? (Where will you be tomorrow morning?) —
51 6yny 3aBTpa yrpom B yHuBepcutete. (I'll be at the university tomorrow morning.) After the verb
“opiTh” should be used a noun in case 6.

Exercise 13.

Give a negative answer to the questions.

Sample: Ber 6111 B MockBe? (Have you been in Moscow?) — Her, s He 6bu1 B MockBe. (No,
I've never been in Moscow.)

Bel B Mockage ceituac? (Are you in Moscow now?) — Her, s He B Mockse ceituac. (No, I am
not in Moscow now.)

1.Bb1 B Yukaro?

2.0Ha B [letepOypre?

3.0H 0611 B Kanane?

4.Bu1 6butH B [lexune?

5.0mna noma?

6.Bb1 Ob1M B TOKHO?

7.Bb1 Ob1T B MOCKBe?

8.BuI Oyniete B yHUBepcuTeTe 3aBTpa B 12 yacoB?

9.Tw1 30ech?

Exercise 14.
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Answer the questions:

1.I'me BHI ceriuac?

2.I'ne BBI Oynete ceromus yepe3 3 yaca?

3.I'ne BBI ObUTM BUEpa Beuepom?

4.I'ne BB OBLTH BUEpa yTpom?

5.I'ne BBl Oyzete 3aBTpa yTpom?

6.I'ne BBI OyzeTe ceromHs Bedepom?

7.Bb1 ObL B MOCKBe?

8.Bb1 O6bi B CankT-Iletepoypre?

9.I'ne BBI OBLIM B BOCKpeceHbe?

10.Bs1 ObuTH BYEpa B pecTopaHe?

11.T'ne BB Oynere yepe3 roa?

12.I'ne BB Oynete yepe3 10 net?

A) In what sentences the verb “0biTh” is used in the Future Tense?
B) In what sentences the verb “OwiTh” is used in the Past Tense?
B) In what sentences the verb “ObiTh” is used in the Present Tense?
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Model — Ha kakom 3Tazke..? =On what floor..? (case 6)

When answering the question: “Ha kakom »3taxe..?”, your answer implies the use
of a preposition HA and the ending —OM at numeral. The ending of the noun “stax” is changed
to —E. When you want to know on what floor someone or something exactly is situated, you should
ask: I3BuHHTE, HE MOICKAKETE, HA KAKOM dTa’kKe HAXOAUTCs (HaX0QUThCSI —H.B.) + ... (case
1)? For example: 13BuHuMTE, HE MOJACKa)ETE, HA KAKOM 3Taxe Haxoautcs tyaner? (Excuse me, could
you tell me on what floor is the toilet?) (anteka, kacca, Mara3su, KHHOTeaTp, peCTOpaH)?

Or, for example, you want to meet somebody and phone this person: — Tel Ha KakOM 3Taxe
ceityac? — 51 Ha BTOpOM 3Taxe.

Here is an example of a very common question: — Ha kakom 3Taxe Tbl KUBEIIb (padoTaelllb,
yuuibcs)? (On what floor do you live (do you work, do you study)?) — {1 kuBy Ha nATOM 3Take.
See on the table p. 56.

1 - Ha nepsOM

2 - Ha BTOpOM

3 - Ha TpeTkEM

4 - Ha yeTBépTOM
5 - Ha naTOM

G - Ha wecTOM

7 - Ha cegbMOM

8 - Ha BocbMOM

9 - Ha gepaTOM ITAKE

10 - Ha gecaTOM

11 - Ha ogxHHaAUaTOM

12 - Ha geeHaauaTOM

13 - Ha TpuHaguartOM
Ha 14,15,16,17,18,19,20 +

- OM

21 - Ha geaguarb+ nepsOM

31 - Ha TpHAUATE +

41 - Ha CopoK +

51 - Ha NATbAECAT +

Answer the questions:
Ha xaxom 3taxe Bbl yunutech? {1 yuych Ha...
Ha xaxom staxe Bbl kuBete? 1 KuBy Ha...
Ha kakom staxe Bbl pabortaere? § padoraio Ha...
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Ha xaxom 3taxe Bbl yuniuch B mkose? § yuuics Ha. ..

Often the model “Ha... aTaxe” is used with the following verbs:

4 6yny xnatb Bac = (I will wait you) Ha... sTaxe.

Hagaiite Bcrperumcs (Lets meet!) (BcTpeTuthesi — €.B.) Ha. .. ITaxe!

Hagaiite BoinbeM (Lets drink) (BbIIUTE — €.B.) KOde Ha. .. ITaxe!

— Toi rne? — 41 Ha BTOpOM 3Taxe!

— Brl Ha kakoM 3Taxe ceituac? — MuI Ha ocaenHeM (ToceqHuii= last) staxe.
Exercise 15.

Write the numerals given in brackets. Sample: § sy Bac ... (4). — Ha UETBEPTOM ITaxke.

1.4 xusy... (1)

249 xkny ... (2)

3.4 yuycs ... (3)

4.0H XuBET ... (5)
S5.Tyaner ... (7)
6.Kunoreartp ... (8)
7.daBaiite BcTpeTuMcs ... (9)
8.0H pabortaer ... (10)
9.Msl xuiu ... (11)
10.0Ha Obuia ... (3)
11.0nwm padorarwor ... (21)

36



T. Y. Tumali. «Russian language for crazy. Tutorial»

Model — Kakoe cerogns uncjio? =What is the date today?

When you suddenly forget-)), what date is today (or yesterday and tomorrow) or your Russian
friend forgets it, questions will be following — Kakoe ceronusa uucno? (What is the date today?) —
Kaxkoe unciio 6010 Buepa? (What was the date yesterday?) — Kakoe awciio 6yner 3aBrpa? (What will
be the date tomorrow?)

The numeral’s ending is — OE, when you use the words “Buepa”, “cerogus”, “3aBrpa’.

For example: Cerogns nsaroe mas. — The Present Tense is used.

Buepa 6but0 yeTBEpTOE Mast. — the verb “Obuto” determines the Past Tense.

3aBrpa Oyzer mectoe mas. — the verb “Oyner” is used in the Future Tense only. See on the
table p. 59.

1 — nepBoe 16 — wectHapLaToe

2 — BTOpOE 17 — cemHaiLlaToe

3 — TpeTbe 18 — BoceMHaaToe
4 — yeTBépTOE 19 - peBsTHazLaTOE

5 — nsitoe 20 — aBajuaroe

6 — mectoe 21 - gBajaLaTh + nepeoe, ...
7 — cegbMmoe 30 — TpyaLIaTOE

8 — BocbMoe 31 — TpUaLaTh NepBoe
9 — neesATOE

10 — gecsitoe

11 - oguHHajaLIATOE

12 — nBeHaj1aToe

13 — TpuHa/LaTOe

14 — yeTbIpHaALIaTOR

15 — nATHaALIaTOE
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When in a sentence other verbs are used or you answer the question “Kakoro uucJa..?” or

“Korpga..?”, numeral’s ending is changing. For example, in the sentence: On npuexan 5.02., you
should say: “On npuexas BTopOI'O deBpansa”. “On npuexan Bropoe deppais.”. — Incorrect answer!

See on the table p. 60.

To the question: — Kakoro uucna Bel npuesetre? the answer should be: “A npueny narOI'O

mapta”. S npueny nsitoe mapta. — Incorrect answer!

Compare: Cerogasi Bropoe uions. — S npueny Broporo mions. Or: 3aBTpa OyneT nepBoe

sHBaps. — OH yexas oMo NepBOTro sIHBapsi

[lepeoe — nepeOI'0
Bropoe — eropOI'O
Tpetbe — TpeThEl'O
Yeteéproe — ueteéprOl'O
[TaTroe — narOI'O

lecToe - wectOI'0

Tpuguaroe - TpugLarOl'O

Tpuguars nepeOIl'O

Heajlars nepeoe - Aeaguars + nepeOl'O, eTopOl'0, ...

AHBapl
(espani
MapTA
anpendd
masl
WroHH
wrondAd
aBrycTA
ceHTabpHA
okTaOpH
HosOpA

Jekabps
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Exercise 16.

Make on the sample.

Sample

Kakoe cerogua uwcao?

{What is the date today?)

Korpa? Kaworo uncaa?

{(When?)

6.01.

7.02.
8.03.

9.04.

10.05.
11.06.
12.07.
13.08.
20.09,
21.10.
22.11.
23.12.
24.01.

30.2.
31.03.

25.12.
23.11.

Ceroua nepuoe AHBap#H.

Mepporo ARBapA.

P.S. The numerals with the ending — OE are also used in situations when you need to buy a ticket
for any type of transport. You also use the preposition HA. For example, when you buy a ticket, you
should say: Mue Hyxen Omer Mocksa — [letepOypr Ha BTop-OE mapra. (I'd like to book a seat

from Moscow to St.-Peterburg on the 2" of March.)

Answer a question, using the sample.

Sample: Y mens aens poxaeHus cemHaanaroro ssaeaps. (I was born on the 17" of J anuary.)
Koraa y Bac nenp poxaennsa? (When were you born?/What date is your birthday?) V mens

JIeHb POXKJICHUS. . .
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Days of week
Yesterday Today Tomorrow

[MoHegensHHK
BropHuK

bbin Cpena

brina Yersepr byger ...

buio [MaTHHLA
Cyb6bora
BockpeceHbe

Buepa 6b11 Bropauk? Cerognst BropHuk? 3aBtpa oyaet Bropauk? The table lists the
answers to these questions.

If you get up in the morning and forget not a date)), but what today (today, tomorrow), is a day
of week, you should ask someone: Kakoy cerogns nens nenenu? (What day is it today?) Kakoi nenp
Henenu ObuT BYepa? (What day was it yesterday?) Kakoii nenn Henenu Oyner 3aBtpa? (What day will
it be tomorrow?) Or: Ceromus uetBepr? (Is it Thursday today?) 3aBtpa cy66ota? (Will it be Saturday
tomorrow?) Buepa Obu1 BTopHUK? (Was it Tuesday yesterday?)

For example: Buepa Obina nsatHuna. CerogHsi cpeaa. 3aBTpa Oyaer BTopHuK. Only in these
cases days of the week are used without preposition.

When you answer the question “Koraa..?”” (When...?) or you talk about an event that takes
place on a certain day of the week, you add the preposition B (Bo) and change the endings of the
nouns of feminine gender :

B noneneanHNK

Bo BTOpHHK

B cpeny

B yeTrBepr

B naranny

B cyo6oTY

B Bockpecenbe

For example: — Koraa b1 BeprEIbCA? — B cpeny. (When will you be back? — On Wednesday.)
Or: 4 xonun Tyga B naruuny. (I went there on Friday.)

When you use any verb in a sentence, you also use the preposition and change a noun’s ending.
For example: OHu npuexasu (mpuexarb — C.B.) B cpefy. S cMoTpen (CMOTpeTh — H.B.) (PHIIbM B CyO-
ooty.

Compare: Cerogns cyooota. f mpuexana B cyooo0Ty.

Exercise 17.

Insert a noun given in brackets with or without preposition.

Sample: OHa npuexana ...................... (cpena). — OHa npuexaia B cpeny.
1. Kakoii cerogus neHb Heaeau? — CEeromHg. . ...oovveeeevvnnnnnnn. (TIOHEAEIbHUK ).
2.41 Buzen (BUAETb — H.B.) MAMY ...vvvnneianneennnennn. (BTOPHHUK).

3.MbI XOoAWIH (XOIUTb — H.B.) BKHHO ....euvvveeennnennnnn. (mATHULIA).

4.51 padOTaIO ... (BTOpHUK).
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5.3aBTPa ...oviviiii (cy600Ta), mosTomy s He padoTaro.
6. — Korna Tbl BepHEMIBCA? (BEPHYTBCS — C.B.) — .enveeenieieennennnnnn (BOCKpECEHbE).
7.—BUepaOblT .......covvvviiiin, (monepenvHUK)? —Her, ...................o (BTOpPHHUK).

Answer the questions:

Bel padotaete B cyoooTy?

BrI paGoTaere B oHeieIbHUK ?
CeronHst BocKpeceHbe?
3aBTpa NMOHEIeIbHUK ?

Bui otpixaete B BOCKpeceHbe?
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Models: { a1006.110, s1 MOry, sI X041y, 1 COOHPAIOCH
(I like, I can, I wish, I am going to do smth) + Infinitive

are used in replies to the questions:

— Uro Bl modute aenatb? (What do you like to do?) — Uto Bel MoxkeTe nenats? (What can you
do?) — Yro BHI xotute Aenath? (What do you want to do?) — Uto Bbl cobupaetech nenars? (What
are you going to do?)

Note that in replies to these questions, the verb “nenats” is not needed.

S xouy penats cnate. — Incorrect. 1 xouy cnare. — Correct.

Moub (H.B.) XoTeTh (H.B.) JIobuTk (H.B.) Cobuparsca (H.B.)
3| MOory 2| Xouy 51 mobmo 1 cobuparocs

Ml MOKEM Ml XOTHM Mb1 1r0bUM Mgl cobupaemcs
Thi MOMEeLlb Thi Xouellb Thi n0bMILIL Thbl cobupaelbca
Bbi MOMeTe Bhi XOTHTE Bbl mobuTe Brl cobupaerech
OH, OHa MOMeT OH, oHa XoueT OH, oHa nobuT O, oHa cobupaeTcs
Ouu MOryT Oum XOTHT Ouu mobar Ouu cobupatorcs

Memorize the conjugations of the verbs MOYb, XOTETb, IIOBUTb!

When you want to talk with a Russian-speaking interlocutor about what he likes, can or wants
to do, your questions are constructed as follows:

Bur mooute (moskete, xotute) + Infinitive?

For example:

Bei moxete pucoBats? (Can you draw?)

Br1 modute cmotpets dyto60? (Do you like to watch football?)

Bui xotute ectb? (Do you want to eat?)

Bui xotute cniats? (Do you want to sleep?)

Br1 modute dotorpaduposars? (Do you like taking photos?)

Bel moxete momoun? (Can you help?)

Bui xotute BoIUTh ? (Do you want a drink ?) (This question implies that you are asking someone
if he wants to drink alcohol.)
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JeByLLIKa XOueT PucoBars.

My:kumHa mobuT BbiHTH 3aMY3K.
XyI0HHHK MOXKET Hparbca.

PeGEHoK moOMT WrpaTe Ha NMHaHKHHO.
My 3bIKaHT MOKET CMOTpeTb MyIbTHHIbM.

Exercise 18. Connect the parts of the sentences in the table.
Complete the sentences using the infinitive.

Bgl xotute muth? (Do you want to drink?) (When you use the verb “niuts”, the question implies
that you are asking someone if he wants some water, juice or tea).
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KoHen 03HakoMuUTEJIbHOT0 (pparmMeHra.

Texkcr npenocrasieH OO0 «JIutPec».

[TpouuTaiitTe 3Ty KHUTY LIEIMKOM, KYIHB IIOJHYIO JIeraabHYI0 Bepcuio Ha JIutPec.

BesomnacHo onnatuTh KHUTY MOKHO OaHKOBCKOM Kaprtoit Visa, MasterCard, Maestro, co cuera
MOOWIIBHOTO TenepoHa, C TUIaTeKHOro tepMuHana, B catone MTC wm Cesi3Hoii, yepes PayPal,

WebMoney, fAunekc.densru, QIWI Komesnek, 60HyCHbIME KapTaMu WX APYTUM YIOOHBIM Bam crio-
coOom.
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